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Question Number : 1 Question Id : 2549896865 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The notebook system unit is often called

Options :

1. # Midrange
2. ¥ Laptop

3. ¥ Desktop

4. % PDA

Question Number : 1 Question Id : 2549896865 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ e

2.+ dueg



3. ® S&hery

4. # PDA

Question Number : 2 Question Id : 2549897241 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is loaded first when the system boots in Linux.

Options :
1. * Shell
2. ¥ BIOS
3. # Keyboard

4. % Motherboard

Question Number : 2 Question Id : 2549897241 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. %

2. ¥ BIOS
3. % dEe

4. ¥ SIS

Question Number : 3 Question Id : 2549897798 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following terms is related to Relational Database Management System?

Options :
1. % PHP
2. % C

3. ¥ Oracle

4, ® Assembly

Question Number : 3 Question Id : 2549897798 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % PHP

2. % C

3. ¢ 3Rehe (Oracle)

4. % el

Question Number : 4 Question Id : 2549897911 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Where does Sqoop ingest data from?

Options :



1. # Linux file directory
2. ¥ MySQL
3. #* Windows folder

4., % HBase

Question Number : 4 Question Id : 2549897911 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Linux Wisdl SRIRGS
2. ¥ MySQL

3. # Windows thicex

4., % HBase

Question Number : 5 Question Id : 2549898428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function in MS-Excel removes all non-printable characters from text?

Options :

1. # REMOVE function
2. % CLEAN function
3. % DELETE function

4. % CUT function



Question Number : 5 Question Id : 2549898428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ REMOVE theH
2. ¥ CLEAN e
3. # DELETE %harM

4. ¥ CUT thar™E

Question Number : 6 Question Id : 2549899339 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
key is used to enter blank space between the two characters.

Options:

1. % Spacebar
2. * Home

3. % Alt

4. * Function

Question Number : 6 Question Id : 2549899339 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ WHIR
2. % g
3. ¥ 3fice

4, ¥ Thar™

Question Number : 7 Question Id : 25498923902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A computer program that translates the instructions of a program line by line into a machine

language is called a/an

Options :

1. ¥ interpreter
2. % CPU

3. * compiler

4. ® processor

Question Number : 7 Question Id : 25498923902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ MR



2. % CPU
3. ¥ hUuserR

4. % grOTR

Question Number : 8 Question Id : 25498930222 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is the disc diameter of a Blu-ray Disc?

Options :

1. % 116 mm
2. ¥ 120 mm
3. % 112 mm

4, % 118 mm

Question Number : 8 Question Id : 25498930222 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 116 mm
2.9 120 mm
3. % 112 mm

4, % 118 mm



Question Number : 9 Question Id : 25498930630 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Where does the CPU store the variables on which it is working?

Options :
1. % Registers
2. % DVD
3. # ROM

4. * Flash

Question Number : 9 Question Id : 25498930630 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¢ IR
2. % DVD
3. ¥ ROM

4, ® T

Question Number : 10 Question Id : 25498930671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In network, what does PAN stand for?



Options :

1. ¢ Personal Area Network
2. * Private Area Network
3. * Public Area Network

4. * Protected Area Network

Question Number : 10 Question Id : 25498930671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ ud=a1 ular Aeadh (Personal Area Network)
2. % yrgde TRAT Aeadh (Private Area Network)
3. % gfsres ulkar Aeadh (Public Area Network)

4. % yy¢ads ufar Aeadh (Protected Area Network)

Question Number : 11 Question Id : 25498930983 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Two types of monitors are:

Options:
1. ®# CRT and DVD
2. % CRT and LCD

3. * DVD and VCD



4, % LED and DVD

Question Number : 11 Question Id : 25498930983 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ CRT 3R DVD
2. ¥ CRT 3R LCD
3. % DVD 3R VCD

4. % LED 3R DVD

Question Number : 12 Question Id : 25498933062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a network device?

Options :

1. Bridge

2. % Light pen
3. #* Tablet

4. #® Stylus

Question Number : 12 Question Id : 25498933062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ {57 (Bridge)

2. ¥ &8¢ U (Light pen)
3. # qeic (Tablet)

4. ¥ gy (Stylus)

Question Number : 13 Question Id : 25498933190 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In big-endian architectures, the leftmost bytes are significant.

Options:

1. % the most
2. ¥ the least
3. * not

4. * |ess

Question Number : 13 Question Id : 25498933190 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 319 Ag<ayguf



2. % A G hH Hg<ayul
3. ¥ Hg<gyui Aal
4. % A AgaYui

Question Number : 14 Question Id : 25498933823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A is a network security system or shielding layer that lies between the internet and

the computer networks.

Options :
1. * router
2. * switch
3. % port

4. + firewall

Question Number : 14 Question Id : 25498933823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ IR¥X (router)
2. #® f@= (switch)
3. % Tié (port)

4.  wrRard (firewall)



Question Number : 15 Question Id : 25498934843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a direct threat to data security?
Options :

1. # Phishing

2. * Virus

3. ¥ Applet

4. % Malware

Question Number : 15 Question Id : 25498934843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % fosfmT
2. % are|
3. v Tle

4. % AARR

Question Number : 16 Question Id : 2549898354 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which cable has foil shielding over a twisted wire?

Options:

1. Shielded Twisted Pair (STP)
2. * Coaxial cable

3. ¥ Single-mode fiber optic cable

4. # Multi-mode fiber optic cable

Question Number : 16 Question Id : 2549898354 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ fAcee fawts TR (STP)

2. % HufaRad had
3. % fIT-Ate HhIgsR Aeeh chadd

4, % )-AYS HigeR AHTfeeh harel

Question Number : 17 Question Id : 2549899505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If you want to print the pages based on the quality, then which of the following is the correct
option?

Options :
1. ¥ File --> Print --> Properties --> Page Setup

2. * File --> Print --> Properties --> Finishing



3. # File --> Print --> Properties --> Page Source

4.+ File --> Print -> Printer Properties -> Quality

Question Number : 17 Question Id : 2549899505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ®gd -> fiie -> UigéieT -> s edm
2. % e -> fiie -> ufadls -> foRfaf
3. ¥ mrgd -> fiic -> UfudlsT -> oo 9

4.+ Higd -> fiie -> fiiex uradlst -> garferdt

Question Number : 18 Question Id : 2549899511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What are the steps to print the test page?

Options :

1. ¥ My computer --> Printer and devices --> Select printer --> Right-click to see properties --> Click

on 'print test page' button.

2. # Home --> Printer and devices --> Select printer --> Right-click to see properties --> Click on

'Print test page' button.

3. ¢ Control panel --> Printer and devices --> Select printer --> Right-click to see properties --> Click

on 'Print test page' button.

4. # Control panel --> Printer and devices --> Select printer --> Right-click to see properties -->



Page source-> Click on 'Print test page' button.

Question Number : 18 Question Id : 2549899511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % A1 $hgeR-> iR ve Eargdy-> daiae fTiex-> Uil ot @ & foly i foeten ad-> ‘fiie 3 O’ Jed R
fereTen e

2. % gig-> fiiex Us fearsay-> ddae fiier-> UTudiat ot 3aq & fow gt faetep a-> fiie ¢ oW’ &e7 R foetah
e

3. ¢ hgtet Oe-> fiier Us feasay-> Sdae fiiez-> ufudist ot 3 & fog g fartes ai-> ‘fiie 3 O’ Fed W)
fereTen opd

4. % hatet Oe1-> fiiex s fSarsdy-> atae fiier-> Uiudlst &t 3awt & forg et faetes ai-> oot 9id-> ‘fife ¢
U7 oA WR faeteh o

Question Number : 19 Question Id : 25498910806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Pin feed method of moving paper through the printer is commonly found in a printer.

Options :

1. ¢ dot-matrix
2. # |aser jet
3. % inkjet

4. % 3D



Question Number : 19 Question Id : 25498910806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Sl Aftay
2. ¥ ISR S
3. ¥ geholc

4. % 3D

Question Number : 20 Question Id : 25498911107 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The full form of Wi-Fi is

Options:

1. % Wireless Fidelity
2. * Wired Fidelity
3. ¥ Wireless Fixing

4. % Wireless Fixture

Question Number : 20 Question Id : 25498911107 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Wi-Fi 1 guf & a1 8?2



Options :

1. ¢ Wireless Fidelity (arazers fthaferd)
2. % Wired Fidelity (@™ ftheferdl)

3. % Wireless Fixing (araxets ftaferi)

4. % Wireless Fixture (arRad fthera=R)

Question Number : 21 Question Id : 25498911212 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
waves are used in the SONAR device.

Options :

1. * Sound

2. ¥ Infrared
3. % Ultrasonic

4. * Infrasonic

Question Number : 21 Question Id : 25498911212 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % e@fq
2. % 3a%h

3. ¥ Scei®



Question Number : 22 Question Id : 25498913417 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The MP3 version of the song ____ sound exactly the same as the original CD song.

Options :

1. % does

2. ¥ does not
3. ¥ completely

4, % temporarily

Question Number : 22 Question Id : 25498913417 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % FAME glaT g

2. GHH Tl gl 8

3. ¥ guiq: g gidT @

4, ¥ RS TU Y A gIAT 8

Question Number : 23 Question Id : 25498913491 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Which of the following are vector file formats?

Options:

1. % PDF, EPS, SVG

2. % PDF, EPS, BMP
3. #® TIFF, JPEG, PDF

4. * PNG, EPS, PS

Question Number : 23 Question Id : 25498913491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
7 J @ 9 T dx Higd hiAe 8?

Options :

1. % PDF, EPS, SVG

2. * PDF, EPS, BMP
3. % TIFF, JPEG, PDF

4. = PNG, EPS, PS

Question Number : 24 Question Id : 25498913788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following are types of cyber security attacks?

Options :
1. % Active and passive

2. #* True and false



3. ¥ Positive and negative

4. * Faster and slower

Question Number : 24 Question Id : 25498913788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ gfcha 3R [Afsshy

2. % ggY 3fR TAd

3. ¥ YhRIcHS 3R hRIcHh

4. % dg MR dg

Question Number : 25 Question Id : 25498913846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

means that the sender converts the original information into another form and sends the

unintelligible message over the network.

Options :

1. % Encryption
2. * Decryption
3. ¥ Subscription

4. = Migration



Question Number : 25 Question Id : 25498913846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ gfepE
2. % Sifeher

3. ¥ gegfohw™

4., % AU

Question Number : 26 Question Id : 25498918480 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If your printer is offline or it's NOT ready, then the next printing job will:

Options:

1. # Cancel

2. * Postpone for unlimited time
3. ¥ Keep in the printing queue

4. # Have to change your printer

Question Number : 26 Question Id : 25498918480 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % I g Sam

2. % 3rdfifag guu & foaw g gt st
3. ¢ fUfén e & <@r e

4. % 3Mueht 37U flier It g

Question Number : 27 Question Id : 25498922706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If the DVD drive is NOT playing discs inserted into it and it is visible in BIOS as well as device

manager, then probably there might be a problem in its

Options :

1. % Power supply
2. ¥ Device driver
3. # Monitor

4. % Operating system

Question Number : 27 Question Id : 25498922706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Rroreft S



2. ¢ f3asg SBeR
3. # Affaex

4, % JtRfdn Reen

Question Number : 28 Question Id : 25498924003 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Where is the Recycle Bin icon found?

Options :

1. % In Properties Dialog box
2. * In Shortcut menu

3. % On Hard drive

4. ¥ On Desktop

Question Number : 28 Question Id : 25498924003 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® giodlst SenT diag |
2. ® giépe A A

3. % g8 gI3d W

4, ¥ STheg R



Question Number : 29 Question Id : 25498924303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The entire process of loading the operating system into RAM is referred to as of the

computer.

Options :

1. % processing
2. % managing
3. #* controlling

4. ¥ booting

Question Number : 29 Question Id : 25498924303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % orafE
2. ® /AfSn
3. % ahelfe

4. gfem

Question Number : 30 Question Id : 25498924585 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Backup file has file format.

Options:
1. % .bash
2. % sh

3. ¥ .bak

4. % backup

Question Number : 30 Question Id : 25498924585 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. # .bash
2. % sh

3. ¥ .bak

4, % backup

Question Number : 31 Question Id : 2549896369 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The rules for exchanging data between computers are called

Options :
1. * programs

2. # procedures

3.



® hyperlinks

4. + protocols

Question Number : 31 Question Id : 2549896369 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® vumg

2. ¥ yfchar (AISR)
3. ¥ grEwida

4. ¢ Yl

Question Number : 32 Question Id : 2549896516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a search engine?

Options :

1. # Internet Explorer
2. * Flash

3. ¥ Google

4., % Chrome

Question Number : 32 Question Id : 2549896516 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. # 3e[T TR
2. % i

3. ¥ T

4. % G

Question Number : 33 Question Id : 2549896542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SMTP is associated with:

Options :

1. # TCP/IP

2. ¥ Electronic mail

3. ¥ Internet Explorer

4. % World Wide Web

Question Number : 33 Question Id : 2549896542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. % TCP/IP

2. ¢ Sl Al

3. ¥ FoHe TR

4. % gee grgs ad (World Wide Web)

Question Number : 34 Question Id : 2549896763 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The browser keeps a list of web pages you have visited during the current session.

Options :

1. ¥ history
2. * favorite
3. ¥ cache

4. * flash

Question Number : 34 Question Id : 2549896763 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ 8% (history)
2. # thafee (favorite)

3. # a1 (cache)



4. % gsr (flash)

Question Number : 35 Question Id : 2549897076 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is/are commonly found on web pages?

Options :

1. # Internet
2. ¥ Hyperlinks
3. * Intranet

4. % Templates

Question Number : 35 Question Id : 2549897076 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ §ee
2. ¢ gERicie
3. % aMc

4. % Tl

Question Number : 36 Question Id : 2549897439 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which function is used to begin a paragraph with a large dropped initial capital letter in a Word

document?

Options :

1. ® Caps

2. % All caps
3. ¥ Drop cap

4, * Format

Question Number : 36 Question Id : 2549897439 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ & (Caps)

2. % gt &g (All caps)
3. + g &y (Drop cap)

4. % thre (Format)

Question Number : 37 Question Id : 2549897940 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is the first block of volume and it contains information needed to boot an operating system

Options :



1. ¢ Boot Control Block
2. #* Volume Control Block
3. #* Directory Structure

4. % RAM

Question Number : 37 Question Id : 2549897940 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ §¢ hele sdieh (Boot Control Block)

2. ® diegH held sdien (Volume Control Block)

3. ¥ SRRad! ¥R (Directory Structure)

4. % 37 (RAM)

Question Number : 38 Question Id : 2549897988 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
BHIM Aadhaar Pay is also called:

Options :

1. # Image-based Payment System

2. * Barcode-based Payment System
3. ¥ Biometric-based Payment System

4, # Picture-based Payment System



Question Number : 38 Question Id : 2549897988 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % A TR T JoTett

2. ® IRepIS IMYTRA QI HuTTedt
3. ¢ graAfee SmaTiRd ST JoTTett

4, % 231 MYUTRT I UoTTedt

Question Number : 39 Question Id : 2549898019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following file extension is used for a markup file?

Options:
1. # .doc
2. % .org
3. ¥ .htm

4. * lib

Question Number : 39 Question Id : 2549898019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % .doc
2. % .org
3. ¥ .htm

4. % ib

Question Number : 40 Question Id : 25498910431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
To undo the case change, press

Options :

1.9 Ctrl+Z
2. % Ctrl+ C
3. % Ctrl+V

4, ® Ctrl+B

Question Number : 40 Question Id : 25498910431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. CTRL+Z

2. % CTRL+C

3.



® CTRL+V

4. %= CTRL+B

Question Number : 41 Question Id : 25498910587 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Left indent controls the space between the and the left margin.

Options :

1. % paragraph
2. * line

3. ¥ words

4. % |etters

Question Number : 41 Question Id : 25498910587 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ 3=< (paragraph)
2. % orgd
3. % g

4. % 31&8R

Question Number : 42 Question Id : 25498910708 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following file extension is used for a batch file?

Options :
1.+ .bat
2. % txt
3. ¥ .0bj

4. % xml

Question Number : 42 Question Id : 25498910708 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:
1.+ .bat
2. % .txt
3. % .obj

4. % xml

Question Number : 43 Question Id : 25498910727 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an example of Database Management System?

Options :



1. *= MS Access
2. % MySQL
3. # Oracle

4. ¥ File

Question Number : 43 Question Id : 25498910727 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % MS Access

2. % MySQL

3. # 3Rehet (Oracle)

4. « h1sd (File)

Question Number : 44 Question Id : 25498911457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the hexadecimal equivalent of the decimal number 39?

Options :
1. % 39
2.¥ 27
3. % 2A

4. % A2



Question Number : 44 Question Id : 25498911457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

ZMeTd 9T 39 & sRTeR gaaTefaHd (hexadecimal) & g?

Options :
1. % 39
2.¥ 27
3. % 2A

4. % A2

Question Number : 45 Question Id : 25498911485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an example of digital wallet?

Options :

1. * Google Pay
2. * BHIM

3. # Apple Wallet

4, % Purse

Question Number : 45 Question Id : 25498911485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® WA T

2. % BHIM

3. ¥ gud dicic

4. ug

Question Number : 46 Question Id : 25498911916 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a classification of data model?

Options :

1. % Object-based data model
2. * Record-based data model
3. ¥ Physical data model

4. + Track-based data model

Question Number : 46 Question Id : 25498911916 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ SfisStee-AyTRd ST Afse
2. ® Repie-smemRa a1 Area

3. # uifaes a1 Ated



4. ¢ ¢h-IMUTRT ST Ated

Question Number : 47 Question Id : 25498911925 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
DDL stands for:

Options :

1. % Data Definition Language
2. * Data Descriptive Language
3. #* Direct Definition Language

4. # Discrete Definition Language

Question Number : 47 Question Id : 25498911925 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 31 SfhfAeH «itdst (Data Definition Language)

2. % o1 fefenfiea oivdst (Data Descriptive Language)

3. ¥ SRae SfthfAsM ofvdst (Direct Definition Language)

4. % f3&hic SfthfAM ofawT (Discrete Definition Language)

Question Number : 48 Question Id : 25498911967 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a logical operator?

Options:
1. % AND
2. # OR

3. ¥ XOR

4. ¥ MINUS

Question Number : 48 Question Id : 25498911967 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. * AND
2. % OR

3. % XOR

4. ¥ MINUS

Question Number : 49 Question Id : 25498912502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which shortcut is used to directly jump right to the header?

Options :
1. % Alt+V

2. % Alt+H



3.¥ Alt+V+H

4. % Alt+V + G

Question Number : 49 Question Id : 25498912502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Alt+V

2. % Alt+H
3.¥ Alt+V+H

4. % Alt+V +G

Question Number : 50 Question Id : 25498919161 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the group under Mailings in MS-Word, which has the maximum number of icons in it.

Options :

1. * Create

2. # Start Mail Merge

3. ¥ Write & Insert fields

4. * Finish

Question Number : 50 Question Id : 25498919161 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 910 (Create)
2. ¥ A 7ol ¥ & (Start Mail Merge)

3. ¢ thice fad 3k 81« (Write & Insert fields)

4. % gar (Finish)

Question Number : 51 Question Id : 25498932137 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which company has developed the Snapdragon processor?

Options :

1. % Qualcomm
2. % Apple

3. # HP

4. % Intel

Question Number : 51 Question Id : 25498932137 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ T H



2. % gua
3. % HP

4. % 3

Question Number : 52 Question Id : 25498934453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a video-sharing site?

Options :

1. % Gmail

2. * Yahoo Mail
3. ¥ YouTube

4. % Rediff

Question Number : 52 Question Id : 25498934453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % SiAa (Gmail)

2. ® grg #d (Yahoo Mail)
3. ¥ g&gd (YouTube)

4, % A3 (Rediff)
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Question Number : 53 Question Id : 25498921266 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % ST ot 9t a1 St SreasT oTar |
2. ST oht 3ie Famt oR & STt ot

3. ¥ N1 Gt hl TTCATh] e G Bd U

4, % AT gt Y Tl ot SR G Bl

Question Number : 54 Question Id : 25498921267 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. ¢ gg @t o foh foreft = +ft ITeht et # Gen i erent w81 ST
2. % 3Igch UrYg 31UAT @I WRie o oy gai o9 9|
3. % R do grafe I I ag Uk 74T AT

4. % g @ A7 3R Sed! § FHo @HT Argar Tl

Question Number : 55 Question Id : 25498921268 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ @e & forg & A & forgl

2. % gg fe@m & foru foh ag fehaHt st avg @ arafe s oar g
3. ¥ 39 fAERY & Heg & & fagl

4. % gl & ufd oru= OH ol g1+ & forgl

Question Number : 56 Question Id : 25498921269 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® S 3T ool = I8 3IIfdel chg T

2. ¥ S99 39 Yooid 3 IrIfeld IS s e feaT|

3. ¥ 59 9g Yool Af<h ardfel= il 38T ATI

4, ¥ JIJ TG IG ool A W oI = o e
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Question Id : 25498921265 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.
In one of the streets of Vienna, a blind beggar used to sit every day and play the violin. Near him
sat his dog, holding a little basket in his mouth. People enjoyed listening to his music. They would

often take pity on the blind man and drop coins into the basket. In this way he made his living.

But one night, the beggar played for a long time without getting anything. He said to himself, “All
my singing and begging has brought me nothing today. People have stopped listening to my
music and they have no pity. How can I make a living in this city?” He felt so sad that he stopped
playing his violin. Just then a gentleman passed by. He saw the beggar’s sad face and empty
basket in the dog’s mouth. He came up to him and said, "You are tired with playing, aren't you?

Give me your violin, and I shall play a little while for you."

The blind man gave the violin to him. The stranger stood by his side and started playing. He had

played only a few notes when a crowd began to gather. The music was so sweet that not one of



the people in the crowd moved away, till the music ended. All the people dropped some money
into the beggar's basket, which at last became so heavy that the dog could hardly hold it. The
beggar now had a lot of money and was very happy. He thanked the gentleman very much and

walked away happily with his dog. That night, the beggar earned enough to pay for many meals.

Who was this gentleman? The beggar did not know anything about him. But it was Dupont, the

greatest musician of Vienna, who had played for the old man.

Sub questions
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Passers-by often dropped money into the beggar's basket because they:

Options:

1. ¥ enjoyed the beggar’'s music.

2. ¥ were sorry for the blind beggar

3. * were pleased with the dog's cleverness

4. % were glad to see the dog serving his master
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The beggar stopped playing the violin because:

Options :
1. ¥ he felt sad that no one dropped any coin in his basket.
2. * he had got enough money to buy his meal

3. # he felt tired after playing for a long time



4. # he was hungry and wanted to have an early meal
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The beggar played the violin to get money for himself but the gentleman played it:

Options :

1. * to get money for himself

2. * to show how well he played
3. ¥ to help the blind beggar

4. * out of his love for music
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The crowd left the gentleman and the beggar:

Options:

1. # when the gentleman said good-bye to them

2. ¥ after the gentleman finished playing the music
3. * while the gentleman was still playing the violin

4. % soon after the gentleman started playing the music
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Which of the following statements is NOT true according to the passage?

Options:

1. # The blind beggar played the violin in order to get some money.
2. * The blind beggar had a dog who carried a basket in his mouth.
3. ¥ Alarge crowd gathered to listen to the gentleman’s music.

4. ¥ The passers-by were indifferent to the gentleman’s music.

QUANTITATIVE APTITUDE
Section Id : 2549897394
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897435
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 58 Question Id : 25498928803 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

A shopkeeper bought 30 kg of wheat at the rate of ¥45 per kg. He sold 40% of the total quantity at
the rate of ¥50 per kg. Approximately, at what price per kg should he sell the remaining quantity

to make 25% overall profit?

Options :
1. % 354
2. % %52
3. # %50

4. ¥ 360
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1. % 54 TIT
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3 % D0 TAT

4. 60 TUUT
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What is the difference between the simple and compound interest on ¥7,300 at the rate of 6% p.a

in 2 years?

Options :

1. % %29.37
2.¥326.28
3. % 331.41

4. * %23.22

Question Number : 59 Question Id : 25498928903 Question Type : MCQ Option Shuffling : Yes
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Options:

| % %2937

5> v % 26.28

3 % % 31.41

4 % T 2322

Question Number : 60 Question Id : 25498929107 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A train runs from Delhi to Assam at 60 km/h. It returns to Delhi from Assam at 70 km/h. What is

the average speed of the train? (correct to 2 decimal places)

Options :

1. % 63.82 km/h
2. # 63.91 km/h
3. # 64.21 km/h

4. ¥ 64.62 km/h
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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1t |1 &2 (correct to 2 decimal places)

Options :

1. % 63.82 km/h
2. # 63.91 km/h
3. ¥ 64.21 km/h

4. ¥ 64.62 km/h
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The simple interest accrued in 10 years on a certain principal is 120% of the principal. What is the

rate of interest per annum?



Options :
1.9 12%
2. % 10%
3. % 8%

4. % 11%
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Options :
1.4 12%
2. % 10%
3. % 8%

4. % 1%
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The ratio of copper and tin in an 84 kg alloy is 4 : 3. Some amount of copper is extracted from the
alloy and the ratio of copper and tin in the resulting alloy becomes 10 : 9. How much copper was

extracted?

Options :
1. % 4kg

2. * 5kg



3. % 6kg

4. ¥ 8 kg
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Options :

1. ¥ 4 foperiumA
2. % 5 fohettumH
3. ¥ 6 fohertum

4.« 8 feperium
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2.3, 11,1
f 2= % .43 2+ 245—4£, where HCF (p,q) = 1, then |p — q| is equal to:
T 9% a%2fy

Options:
1. %19
2. %20
3.+ 23

4. % 27
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Options:
1 % 19
5 % 20
3. ¢ 23
4 % 27
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Options:
1. ¥ foeedt
2. & e
3. % fig

4. % e
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Select the option that is related to the third word in the same way as the second word is related to

the first word.

Lemur : Monkey :: Rook : ?
Options :

1. % Cat

2. % Crow



3. % Vulture

4. % Owl
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If the positions of the fifth and twelfth letters of the word GLORIFICATIONS are interchanged, and
likewise, the positions of the fourth and fourteenth letters, the third and tenth letters, the second
and eleventh letters, and the first and thirteenth letters are interchanged, which of the following

will be the twelfth letter from the right end?

Options:



4.4 7
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S, Stetl, 3@AR
Options :

1. % Hg+q
2. ¥ qsa

3. % IR

4. % yfResh
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Select the word from the options that is similar to the given set of words in a certain manner, and

is therefore a part of the group.
Jam : Jelly : Pickles

Options:

1. # Butter

2. ¥ Marmalade

3. * Grapes



4, # Preservative
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Options:

1. * A

2. % gfean
3. ¢ faEmeg

4. % Hgd
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Four words have been given, out of which three are alike in some manner and one is different.

Select the word that is different.

Options :

1. ® House
2. % Cottage
3. % School

4. % Palace
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In the following question, two statements P and Q are given. Look into their logical acceptability

and mark your answer.

P: All A's are B's. Some B’s are C's. Therefore some A’s are C's.

Q: Some A’s are B's. All C's are A’s. Therefore some C's are B's.

Options :

1. # Both P and Q are true.

2. ¥ Pis correct and Q is wrong.
3. * Piswrong and Q is correct.

4. % Both P and Q are wrong.
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Options :

1. ¢ T : Fehfe qwH
2. % [T ETYR TR
3. % YA 8]

4. ¥ The ; Ol
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Four pairs of words have been given, out of which three are alike in some manner and one is

different. Select the word-pair that is different.

Options :

1. % Flurry : Blizzard
2. * Moisten : Drench
3. * Prick : Stab

4. % Scrub : Polish
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Options :
1. ¥ pigen
2. ¥ dgr

3. ® T dd

4, % gegfafaaq

Question Number : 70 Question Id : 2549899654 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Singhbhum is famous for:

Options :
1. % coal
2. ¥ jron
3. # crude oil

4. % aluminium
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The 'Red Data Books' published by the International Union for Conservation of Nature and Natural

Resources (IUCN) contain a list of:

1. Endemic plant and animal species present in the biodiversity hotspots

2. Threatened plant and animal species

3. Protected sites for conservation of nature and natural resources in various countries
Options :

1.% 1,2and 3

2.9 0Only 2

3. % Both2and 3

4, % Only 3
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Options :
1.%1,23R3
2. ¥ Hhad 2
3. % 2 3k 3 gt

4, % haa 3
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Options :

4, ¢ {3
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The 1988 World Olympics Game were held at:

Options :

1. * Montreal

2. * Los Angeles
3. # Tokyo

4. « Seoul
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Options :

1. haer 1,2 3R 3
2. % haer 2 3R 3
3. ¥ thael 2 3R 4

4, % 1,2,33R4
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Which of the following have coral reefs?

1. Andaman and Nicobar Islands
2. Gulf of Kutch
3. Gulf of Mannar

4. Sundar-bans

Options:

1.4 0Only1,2and 3
2. % Only2and 3
3. % Only2and 4

4. % 1,2,3and 4
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Options :

1. ¥ ST (Germany)
2. % g (France)

3. % & (Turkey)

4. + 3Tt (Indonesia)
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India assumed the G20 Presidency on the 1st of December 2022 from

Options:

1. % Germany
2. * France
3. ¥ Turkey

4. ¥ Indonesia
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1.+ BSH sTaTh! 3R Tw.T9. 3fieichic
2. % ASH sraTceeh! 3R Gt 98

3. ¥ g9.UY. 3ficihlc 3R Tt ST

4. % U3, g 3R Gl d¥e
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Who among the following founded the Theosophical Society in India in 18797

Options :
1. ¥ Madam Blavatsky and HS Olcott

2. ¥ Madam Blavatsky and Annie Besant



3. % HS Olcott and Annie Besant

4. * AO Hume and Annie Besant

English Mock

Group Number : 2

Group Id : 2549894687
Group Maximum Duration : 5

Group Minimum Duration : 5

Show Attended Group?: No

Edit Attended Group?: No

Break time: 1
Mandatory Break time: Yes
Group Marks : 0

Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No

English Mock

Section Id : 2549897397
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Yes



Clear Response:

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549897438
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498945238 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
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Technology is the sum of any techniques and methods or processes used in the production
of goods or services or the accomplishment of objectives such as scientific investigation.

Technology can be the knowledge of techniques or processes and the like or it can be



embedded in machines to allow for operation without detailed knowledge of their workings.
Systems applying technology by taking an input then changing it according to the system
use and then producing an outcome are referred to as technology systems or technological
systems. The simplest form of technology is the development and use of basic tools. The
prehistoric invention of shaped stone tools followed by the discovery of how to control fire
increased sources of food. The later Neolithic Revolution extended this and quadrupled the
sustenance available from a territory. The invention of the wheel helped humans to travel in
and control their environment. Developments in historic times including the printing press
the telephone and the Internet have lessened physical barriers to communication and
allowed humans to interact freely on a global scale. Technology has many effects. It has
helped develop more advanced economies and has allowed the rise of a leisure class. Many
technological processes produce unwanted by products known as pollution and deplete
natural resources to the detriment of our environment. Innovations have always influenced
the values of a society and raised new questions in the ethics of technology. Examples
include the rise of the notion of efficiency in terms of human productivity and the
challenges of bioethics. Philosophical debates have arisen over the use of technology with
disagreements over whether technology improves the human condition or worsens it.
Reactionary movements criticize the pervasiveness of technology arguing that it harms the
environment and alienates people. Proponents of ideologies such as transhumanism and
techno progressivism view continued technological progress as beneficial to society and the
human condition. The use of the term technology has changed significantly over the last
two hundred years. Before the twentieth century the term was uncommon in English and it
was used either to refer to the description or study of the useful arts or to allude to
technical education as in the Massachusetts Institute of Technology. The term technology
rose to prominence in the twentieth century in connection with the Second Industrial
Revolution. The meanings of term changed in the early twentieth century when American
social scientists beginning with Thorstein Veblen translated ideas from the German concept
of Technik into technology. In German and other European language a distinction exists
between technik and technologie that is absent in English which usually translates both
terms as technology. Technology referred not only to the study of the industrial arts but to
the industrial arts themselves. American sociologist Read Bain wrote that technology
includes all tools and machines from utensils to weapons to instruments and from clothing
to communicating and transporting devices and the skills by which we produce and use

them. This definition remains common among scholars especially social scientists. Scientists



and engineers usually prefer to define technology as applied science rather than as the
things that people make and use. More recently scholars have borrowed from European
philosophers of technique to extend the meaning of technology to various forms of

instrumental reason as in works by Foucault on technologies of the self.
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